SOLVING TRIGONOMETRIC EQUATIONS USING ANGLE FORMULAE AND THE t-FORMULAE

1 Solvefor0<x<2m
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2 Solvefor0<x<2m

(@) 2cosx=cosecx @ (b) 4sinx=secx (c) 4cosx= /3 cosecx
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©

8 Show that if a° + b* < ¢, the equation a cos 8+ bsin 8= c has no real roots.
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9 The equal sides of an isosceles triangle are x cm and the third side is 2y cm. The equal
angles are each 6 and the height of the triangle is 1cm, as shown.

If the perimeter of the triangle is four times the height, find the size of the angles of the
triangle to the nearest minute.
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10 Solve each equation:
(@) tan"(%)-—tan"(%)=tan_'(%) (b) tan™ (2x) + tan™* (3x) = tan™ (1)
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13 Solve each equation using the ¢ formulae, for 0° <0< 360°.
(a) 2sinB+cosfB=1 (b) 5cos0+3sinB=4 (c) 2cosecO-4cotf@=3
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16 Solvefor0<O< .

(a) cos39=sin(%-9) (b) sin29=cos(9-{l£ (c) c0526=sin(9+%
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ARA o B= 2 M/A+B> m/ﬁ,_s)
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17 Solvefor0<x< .

(@) sin3x+sinx=0 (b) sin2x+cos3x=0 (c) tan2x+cot3x=0
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